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section

Mental Ability

Q.1

Agmin, the i bo the et walks &0 metred straight. sgain Paony 1o e b and walks 23 cortres straight, Move far i she

Beohisd sfarts walking straight bowards Esst Ather walking 7% metres, she tuma b the left aod valks 1% mebies straighi
Totn o Starting point”

Question |D : 1679436007 J

Ans X' 1. 47 metres
& 2 33 metres
X 3 45 metres
o 4 35 metres
.2 Fendihe given nfoemasio caneflly and answer the guertion dat el

Ao, Vikram, Monish and Barani ave i be teabed in a o However, Mocink amd Bamni casoel be together Also,
Vikrany cassed be al (he dand place,
Which of the xllowing mms be FALSE?T

Question D + 1679436008

Ans (1. Anandh is at the second place
< 2 Anandh is at the third place
& 3 Anandh is at the fourth place
« ¢ Anandh is at the first place
Q3

Elephant is related to Trumpet in the same wWay.as Cat is related to:

Question D : 1679436009

Az X 1. Caw
v 2 Mew
X 3 Squeak
& 4 Kitten
Q4

Ans

0™ *" sanneds for addiiog”, =7 fod "pbmdiion”, *%e" For "dnankon’, "= for “inchiplicatioa”, *— " $of “edqual pa', 5 for
‘greatel than' and =" foy "less s, then stale which of dhe foflowing siabements & tme?

Question |0 1679436023 ]

V1 5>29%2%10<4%8
X2 5%3<758%4%]
K33%4>2-09%3<3
K43%¥2<48516>2%4

Qa.s

Question |0 : 1679436012




Srudy the given dagram carefislly and aonwer e question thas follows.
(L), Chrcle represents wrban’

i st e ; ;

11lih Rectanghe repeesents “female”

1i%) Trkangde repuesents “educaled”

/’:

# 15 lal

™

Which of the following cptions represents the mamber of govermment eniphovess wha are not feniae, not urban
and oot edocated”

Ans 1. 13
X224
i3
<410

0.6 Which ketter coumes immediately before the eighth better fron the extrense left of the English alphabet? _
b X“ [ Question |0 : 1679436014

ez J
X ~O
.Y,

viG

Q.7 e followung wiatris, cne block has  sparstion msaik bn it Sebeet he comet s froes the alteriatives givea st <3
ieplade qardtion sk =

A8 B EGa

0.8 Hunhuh@;&mﬁm.uhnmwﬂwxwamm«mmhmw
brothes of Ve How {3 My reased o Kosenala? Question 1D 1 1679436016
Ans (1. Brother-in-law
< 2. Brother
v © Son
/< 4 Husband
qg hhfmm”mhlm_ﬁhmmhmmfmhﬂMﬂwhﬂm
e Question D 1679436026
T 4 5
: ] T -]
2 k- ]
T L} L1}
Ans 21 2]

Nz 23




N & 27
o i 20

Q.10 Given ls a statement aod Py assuimptiond. Sekect the comect conies? abou the assuapsion: froen the given options
RalEment!
Opening a post office in City A i waseful.

Aviumiplisak:
L Thete 2 an sdeqeate muiiber of poct offices i Oy A
1. Enfabitants of City A peed post office.

Ans 4
Weither assumption I nor II is implicit in the statement.

X2
Only assumption II is implicit in the statement.

v

Only assumption I is implicit in the statement.
X a

Either assumption I or IT is implicit in the statement.

Question 1D : 1679436010

q‘l‘l 1E7Book” i calfed ecloal’, "whool” o called "pen’, “pen’ it callnd "erager”, femser dn called Thug” and "bag? i called
“slurpeney, Wit will w smdent write witk?
Ans X 1. Pen
X 2 Bag

# 3 School

o F
?-:;
Ans x'l- B 6
36 .
oo
X2 “e2 _
3 1'5'22-5
R
v e

« ¢ Eraser b

Q12 From the options, select the pair that is similar to the following pait’ 4
8 3

Question D ;1679436015 ]
W
Question 1D 1 1679436013 J

Q13 Select the odd word pair from the following.

A of 1 Angle : Radian
# 2. Rubber : Latex
X 3 0il : Seed
< 4. Paper : Pulp

Question 1D : 1679436011

Q.14 Readabe given stasements and decide whaoh of the piven conchasions logically fallows froim the stitements.

Statrnsemis:

Mo Fruit i jasmmlee,

Question 1D ; 1679436025

o jnsmine i nose,

Concluskons:
1. Mo finait 15 pose,
11, 500 1oses At amines,

_ Ans 3 1. Only conclusion IT follows.




< 2 Only conclusion I follows.

o © Neither conclusion I nor I follows.
X 4 Either conclusion I or II follows.

q_15 Wios e ek Geaden 01 A sofwade company sad Pwo of vour friemds A having a traned selatioaakap with each ofher.
As w res, dueny are o! coairibating well in group acthties. Hlow vl you handle soch 2 simarion? Questmnl[}ﬂﬁm

Ans  OC 1.

You will punish them for mot contributing by keeping them out of the tean.

X 2

You believe, “How am [ bothened wich such petty bimses? Ad hﬂul'ﬂum.s_kubﬂ.pg:dnqebyndm:suh s fipet™

X &

You will give them complementary tasks in which both have to work together.,

v &8

You will make an explicit effort to help them shake hands.

0.16 Fead the follewing o satements, [shelled as Assevtion and Reason. and decide wiiich of the gives options s comect.

Amriion A Question 1D 1679436021 o
Iz bosa, Fermabens Barve higher Bl expectancy thas the oales. gind ___
Resson (R .

Femalos peogive o bethed dict.

- X1 ~)

Both A and R are true and R is the correct explanation of A. . J
< 2 A s false but R is true. A @ o
# % A s true but R is false. QA0
« ¢ Both A and R are false. [

there are 50 smadents kn the queue, what poaation does Rohinl ocoupy fom the

Q.17 15 qoens, Meaika b 109 foom the Sioee, Kivva i3 253 from the back ssd Rohin ks jul {6 the -ﬂﬂoriﬂhu . .
froar B Question 10 1679436020

Ans o 1 gth
X 2 joth
< 2 aoth
. _I_.S']i i

Q18 How many triangles are there in the following figure? Question 101679496018

Ans 1. 9
X212
X3 20
v i 16

Q.19 Read the following stvements and select the nftemative that aptly describes these stabements.
Question 1D : 1679436024

L. The bank smiployess caliad off the stridie that they were obiarving in profes apainst peivatisation

L. The bank employess went o sirike anticipatiag n faeat to their jobs.




| |Ans X1
Both statements I and II are independent causes.

Wz

Both statements I and IT are effects of independent causes.

X 3 Statement I is the cause and II is its effect.
/< 4 Statement II is the cause and I is its effect.

Q.20 From the options. select the pair that is similar to the following pair. Question ID : 1679436017

Badminton : Court

Ans 3 1. Skating : Court
& 2 Cricket : Ground
X 2 Boxing : Arena
o 4 Cricket : Pitch

Section : General- Awarenass

B 1 L
0.1 When was the Foreign Exchange Management Act (FEMA) enacted? . guesF%ﬂh?f Fe70436035

Ans X 1. 1947
o 2 1999
< 31982 _ @&
X 4 1963 S N

Q2 In which state is the Jawaharlal Nehru Sea Port located? Question 1D : 1679436051

Ans X 1. Odisha
X 2 Keralas
v .

Q3 The Finance Minister of India is appointed by: T —

Ans X 1. the Prime Minister
X 2 the Vice-President
X 3. the Attorney-General

« 4 the President

Q.4 W shouid wew cotton clothes b sumimer because it helps kn wiich makes our bodhy comfortable.
Question 1D 1679436042

Ans X 1. Condensation process

#< 2. Sublimation process
X 3. Centrifugation process
« ¢ Evaporation process

Q5 In which state are the Dhupgarh Hills located? Giisstion 1D 1679436080




|Ans X 1. Andhra Pradesh

X 2 Jammu and Kashmir
/< 3 Rajasthan

« 1 Madhya Pradesh

Q.6 What is the rank occupied by India among the econombes of the world i 1emis of expon volume?

Ans X'l. 141:11

Question 1D ; 1679436036

X2 et
X 3 yond
V4 ot

Q.7 The Harappan site Kalibangan is situated in the Indian state of:

Question 1D ; 1679436029

Ans <1, Guijarat
& 2 Madhya Pradesh
# 2 Bihar
« 1 Rajasthan

Q.8 “lodss Cements’ has been associased with which franchise w the Iodian Prember League cricket tovnsment?

. Question 1D : 1679436040

Ans X 1. Roval Challengers Bangalore

' 2 Chennai Super Kings
& 3. Kolkata Knight Riders
& 4 Mumbai Indians

0.0 inwhich of the follosiag vean did Sobis Chado Bole gt thet A= Hined Sarkar (Chovermonent of Free Endial
in Sisgapore? il

Question 1D 1 1679436027

Are X1 1944
o 2 1943
K 31942
X< 4 1944

Q10 Which of the following is INCORRECT?

Question |0 : 1679436034

Ans O

The Governor of a State submits his resignation to the President.

X2

The same person can be appointed as Governor for two States.

A person of the age of 30 vears can become the Governor of a State.

X 4
The Governor of a State is appointed by the President.

Q.11 with which musical instrument is the famous musician T, K. Murthy associated? [

Question 1D . 1679436037

Ans 3¢ 1. Sarangi




« 2 Mridangam
& 3 Jaltarangam
X 4 sitar

Q.12 What was the mok occupied by India i the FDI Confidence Dindex 2015 released by A T Kearmey™

Question 1D : 1679436045

Ans X1, gth
W 2t
7< 3 +th
< 4 yyth

q_‘l 3 ﬂr‘hqim_m,g e foliowing created history af the Commonmealth Games 201% by becomiag Tinfa's younges: ever pobd
- imedal winner™

Question 1D ; 1679436041

Ans o | Anish Bhanwala
X 2. Kavita Devi
7< 3. Deepak Lather
& 4 N Ram Gautam

01 T i v s the R Rpibabony’ e Dievolopenn Atsthority (TREVA] consinited a3 s stcistmmi by - r
Ans X 1. 1988 p ;ﬂueS%‘tin‘-'rﬁm
X 2 199] \ =
X 32005
W 4 2000 .9

- (L =

@15 The first Emperor of Mughal dynasty was: -

Question ID; 1679436028

Ans X 1. Muhammad Shah
o © Babugs™
X = Humayun
X 4 Ahmad Shah

Q16 \Where was the 23! meeting of the Westem Zonal Council held?

Question 1D 1679436046

Ans X 1. Pune
& 2 Ahmedabad
< 2 Bhuj

« + Gandhinagar

Q.17 Dumbal is a famous folk dance of which of the following stares?

Question I 1679436038

Ans X 1. Uttarakhand
7< 2 Chhartisgarh
< 3 Madhya Pradesh
¥ 4 Jammu and Kashmir

Q.18 Whart was India’s electricity generation growth rate in March 20187

Question 1D ; 1679436044




p R
Xz
X3
v &

3.3%
5.7%
2.8%
4.5%

Q19 Which city is famous for Chikankari type of embroidery?

Question 1D : 1679436035

Ans  of 1. Lucknow
/< 2 Nagpur
X 3 Raipur
& 4 Jaipur

Q.20 T the power 1o promulgate an Ordinagce uader Articie 123 of the Constimation of hixtia,

Ans 3 1. The Attorney-General

Question D ;1679436032

« 7 The President
< 3 The Governor
& 4 The Prime Minister

Section | Arithmetic Ability

q;'l A shopleeper marks op bis goods sach e be can paie 3 A% prolis alter giving 41 2% discoust oo the marked -.-'-_:-fl'

E;t‘_;?uﬂaJﬂbmwmhmﬁlbnﬂmlunmfpnmﬂwhw, 5 .". Question 1D : 1679436054

..." "N i

Ans 1 '.‘I_ .

vi 27

X 2 20

X3 17

=Y o
?( 4, 33_—’-.;
2 F .

0.2 Thodulliencn beteet the coutpelit Bt an the sbsple steret oo & s at o (b of 20% per anmsts f¢ 4 yean b

T G, Whies vl Ahe e ummmhlrlmmmsﬁzg voars?

Question D 1679436055

X1 T32762
X 2 T31,672
o 2 T31.762.50
X 4 T32,762.50

The sum of tovo menbers i3 274w thels HOF i 25, [Feackh of the tr'o mambers Lies betwoepn H0 dnd E60, e the sim
o shariy oo als s

0.3
Ans

Question |D ;| 1679436057

x-_l 11

700
11
750
11
600
5

250

v
X3
X a




0.4

Ans

A e e 2 'women can complete 8 Gk a8 days, wheveas 2 oeen sed § women: can complese the same tok in 10 dags.
Ho mamy womes showlkd sz § aen bo complese the ki in 25 days?

X< 14
X28
w2
K410

Question |0 ; 1679436060 ]

A spleere 1 placed ka o cubw such that it seoches sach murface of the cube, Non peother cobye i placed in S sphene =
The same way. 'What i3 the ratie of e volaae of the ariginal rebe vo laat o the sanaller cabe?

K131
v g3 3@:1
X3 Zvrizl
Xa2:1

“Question 10 ; 1679436056

0.6

I thee emmnermion of' w finction {5 incemased by 3 and the dennnuinanse Is incneased by 5, mtﬂnimm' and if

ot 1he smsernor and the denceninator e devreased by 1, mmmw m-ﬁmmu
inumrabod mad descanimatior of the cetginal fiaction is

X113
v
X3 2
Xas

Q.7

T bisrr, A sl B, o100 of the shne 1ine B Tonr ARG owanld chch sy, m’”“ﬂ-ﬂﬂl
reach theil destinaticen after & Botn 40 mimetes and 3 hours 43 mimies. repectivelys I the speed of

X 1. 32 kmh
' 2 48 kmvh
X 3 50kmh
X436

m a
Wit 5 e apied of A7 &
. 1':' 'l} -,. o
“L;:«

08

14
mgmmamﬂn} G203 %0292 x 85 %0077

T3 LATX 07 65077 — 64,934 s I

Question 1D : 1679436048

Ans

Ans

Ans X 1. 0.45and 0.17
v 7 0.13 and 0.15
X 3 0.09and 0.11
A 4 0.11 and 0.13
0.9 Thelacomes of A, B and © sée s Ehe ratho of 719 12, ned e expeadineces afe In the ko of 8 | 911510 sabves

Sth of has dnceae, then the mtio o the savings of Ato et of B i

X1i18:11
W 11:18
X35:6
X46:5

q_‘lu :.r'ma-m..um and 268 b st divcidhed by the greates atmmber o e comiainder i each case i3 v, What i the value
; = §i?

X 1. 357
X 2 363
X 3. 350

Question 1D : 1679436052

Question 1D ; 1679436058




Question 1D ; 1679436050

MR ks W | W

" &

e

Q.12 0% of e snplovoss off a coaspany are ice ot 755 af deeiu eans tore than T 4,80 pey vt B 45%% o adl the
employees of the (omupaeny: earn mode than T .50 per month, tren the percenmge of the women employess saming
T k500 o0 bess i

Question 1D : 1679436053

Ans

<150
X2 45
X3 70
75

.

Q.13

S 2 4.8n 13+3.ﬁ+54uf§—§
On simplification,

2ofs+5x2=2-5[2+3{2-2x2+5}-10]+5

reduces t::i:gj,

'-\_.__ [=="1 .

. Question ID: 1679436049

B I

i "

x 1.
X2
X3
g

= W wN e

Q14 A cerisin ol s b thooe riamses e am of ts digitn. 1743 ks wdnd 0 the mumbar. the digirs are isferchanged.
- WWTAE et riy it 0o thie #Fibins 1 e enierduer™

v 14

Ans

‘Question ID ; 1679436047

Xz 2]
X %12
X424

Comprehension:




Study the following pie-chart and table and answer the questions that
follow:

Total population of children below 12 years = 13200

Ratio between Boys and Girls
Village Boys : Girls
A 5:6
B 0313
i 315
D -
E 7:4
SubQuestion No : 15 ~Q_)"
q; What is the ratio ti‘.if tb_.e average number ﬂf boys - __,nuestﬁc?ﬁ;.ﬂi'mm ]
(below 12 years) in villages A and D to that of S W . W d
girls in these two villages? & reblr
ans X 127:22 AN
X2 32:25 P> \ %
X3 22:27
Ve 25:32 |
Comprehension
Study the followil g pie-chart and table and answer the questions that

follow: >
Tﬂtﬂlpopulaﬁfm ‘of children below 12 years = 13200

Ratio between Boys and Girls

Village Boys : Girls
A 5:6
B 9:13
& 33
D 517
E 7:4

SubQuestion No : 16

(). The total ourber of bons in five villages i what per ceat of the total mamber of chikdren in these villages (pearedt fo.a
§ ey | Question 1D ; 1679436063 |




| A of 1. 44
X 2 41
<3 48
X 4 50

Comprehension:

Study the following graph and answer the questions that follow:

Percent profit earned by Companies A and B over the vears.

Income — Expenditure

Percent profit = » 100

Expenditure

7o

S

85
60
po_ s

5

70 4/

ks

10

2010 2011 2012 2013 2014

Years
SubQuestion No: 17

&1 If the expenditure of company B in 2010 was
< 3.6 lakhs. then what was its pmﬂt (in lakhs) in
that year? \

Ans of 1 L4
<2124
X3 155
<4125

L

S
as \u 45 ——Company A g
35 —&—Company B
a0 3g i

Question 1D ; 1679436066

Comprehension:




Income — Expenditure

Study the following graph and answer the questions that follow:

Percent profit earned by Companies A and B over the years.

SubQuestion No ; 18

@1 In 2014. if the expenditure of companies A and B
was the same, then what was the respective ratio
of the income of A and B in that year?

Ans X1 13:15
X2 29:33
vz 2032
25 4 28:31

Percent profit = ; % 100
Expenditure
70
&5

50

55
50

45 45 ——Company A

40

35 —@— Company B
30 / a0
20 <0
10
o

2010 2011 2012 2013 2014 2015
Years

T .."'..3
‘Question ID : 1679436065

Comprehension:




Study the following bar graph and answer the questions that
follow:

Different types of vehicles (m lakhs) exported by a company in
2015 and 2016.

w2015 w2016

A-‘lﬂ
25
83
R
»
i

,E 15
Hfm
2

E 5
o 1]

A B C D E
Types of Vehicles :

SubQuestion No : 19

=g

@1 The percentage change (increase or decrease) in the Wy
number of vehicles exported from 2015 to uﬂim -

Question 1D ; 1679436068

below 10% in case of vehicles:
Ans X1 AandC

X2 BandE

X2 Dand @

W CandE '.




Study the following bar graph and answer the questions that

follow:
Different types of vehicles (m lakhs) exported by a company in
2015 and 2016.
m 2015 ® 2016

_ 40

Z 5

& 30

T

£

.-E 15

% 10

2

5§ % |

“ 0

A B C D
Types of Vehicles

SubQuestion No : 20

@2 The total number of A. C and E type vehicles

Question 1D ; 1679436069

exported by the company in 2015 is what percent
more than the total number of B and D fype Wﬁs
exported in 2016 (correct to one decimal place)?
A of 1.292
X 2278
X3 274
X 4286

Section : General Englsh

q ] lnthe iotlowing seatesce four wods of plomses have Been uaderlined. One 0f them é imtoemact. e e
MNOORRECT woed o phanse fronu the given opiions.

Question 1D ; 1679436077

Savita's mighboser gid that bowever hand she will iry. she sonld not be pbde 0 Become the table tennls champlon of e
eallipe

# 1. be able to become
X< 2 of the college

< 2 said that

W 4 will try

Q2 Fill in the blank with the appropriate word.

Question 1D : 1679436075

I am not a movie fan. I watch movies on television.

Ans X 1. often




W 2 rarely
# 3 almost
X 4 always

Q3

Fill in the biank with the appropeiate phrase/phrasal verb.

Question 1D : 1679436084

We found ourselves . of food supplies after being stranded in the hills for 5 days.
# 1. wearing out
X 2. looking out
X 3 running down
' 4 running out

0.4

Choose the word that s correctly spelt.

Question 1D ; 1679436082

« 1. Desperate

& 2 Aknowledge

X 2 Immagination
# 4. Controvertial

B

Choose the option that best combines the too given sentences,

" Question ID: 1679436080

Caring for all human beings s the essence of all religions. You should not forget ;;.

x :

Caring for all buman beings which is the essence of all religionsvou shﬁq,p;&rgﬂ. 4

Xz

Caring for all human beings is the-essence of all religions wia: wudmu]d oot forget,

X2
You should ot forget it thal caring for all buman begs iz the essence of all religions.
v »
Vi stiould ot farger hat culﬁha[l bimtan beings is the essence of all religions.

Q6

Cloose the mos appmﬂrm"c'oﬁm o complete the senfence,

T bt v Sters oner weekend before the Jast dnd we made oitr vacarion plans,

Question ID: 1679436073

X 1. any

X 2 some
X3a

v ¢ the

Q.7

Choose the correct synonym of:

Question 1D ; 1679436070

genuine
&1 fine
v 2 real
X 3 gentle
& 4. kind

| o8




Choose the correct antonym of the underlined word to fill in the blank. l Question I0; 1679436072

Aunt Beena is a stipgy lady compared to my mother who isvery .
Ans X 1. persuasive

X 2 caring

v 4. liberal

X 4. protective

Q9 Choose the passive voice form of the given sentence. T —

The gardener warned the children not to pluck flowers.
Ans ( 1
The children were warned by the gardener not to pluck flowers.
X2
The children warned the gardener not to pluck flowers.

X
The gardener is warning the children not to pluck flowers.

p

The gardener warned the children not to pluck flowers. ® i

< " Question 1D ; 1679436083

Q.10 Fill in the blank with the appropriate idiomatic expression. L b
Theteacher  the students” request for an outdoor event in the hﬂis
Ans  of | turned a deaf ear to .\
< 2 cut a sorry figure at

& 3 was at arm’s length to'
X 4 took 1o task

Q.11 il i e bk sk ehie appeiopeiate shond.

Absia e i :J#B'Mu_ 1t i1z Eaglish sven thotigh she hiad been lsaming English for 3 year Question ID : 1679436074

Ans X 10 Wwas
X2 s
v @ could
X 4 were

Q12 Choose the correct antonym of: it [ A B

Jjumbo

Ans X 1. monstrous
& 2 hilarious
X 3 grand
v ¢ miniature

ARl S0 15 Sobmi, e ot g Ko Snml with you. | Kisow thevt are other pedphs whilting t giab i job a1 Question ID : 1679436079

Q.13 Choose the most sppeopliaie ndinect speech form for the foflowing sentence l
don’t want o lose i1

| Ans




&

Asggali i 1"z oot golng to Magali with you Seema. | Lsow there are olher peopbe wailiog 1o g my job ad 1 doa't
w0 lose ir

W

Anjali sodd Sretia that the was 168 poing 10 Masnll with ber as ohe ks theve were ofber pecple wailing 56 grab ke job
w8 et i B boe IR

X3

Anal] s, ~1'm sor oing i Manali with yeo. [ Enew there abe other people wairssg 1o grab oy job s [ don't wam so
L4

X< a

Mgl sabd Seen thas the's sot going wo Menall with her She knoos there e oty peopie walbing o grb her job and
she doa™t 'want b fose B2

(.14 o the foliowing sentesce fonr words or phames have been underlined One of them is inoomrect. Choose the
THCORMECT word or phrmse fon the 2iven options. Question 1D : 1679436076
Competencies ane charssterinies dar W tse 1 sehicve socteid. Thede chuescienasies of s tun be incksdsd thiogs

Nike knowiedge. aspects ol leadegship. setf-raterm, kil o relatiieohip-buildiog.
Ans X 1. we use to

v 2 can be included
< 3. aspects of leadership

& 4 or relationship-building.

Q15 Choose the sentence that is correctly punctuated. Question ID41679436081
Ans X1 S 7
“What a pleasant day? “said Prabhu, “lets go on a picaic 10 Surajkund,” N ’ 2 _: - -—

x_ g L o '. ._"_'. " - : F D
What a pleasant day™" said Prabhu, “lets go on a picnic to Surajhmﬁ.:"’ _' '
“What a pleasant day!" said Prabhu. “Let’s 2o on a picnic tmmm]kniﬁ"

xa o

“What a pleasant day. said Prabhu,” “Lefs go ona plemctuﬁmajlnmd

Comprehension:




Read the followmg passage and answer the questions that follow.

Life is as vast as space. but somehow we use our bram in a lmuited
way. Our bram has been usmg thought as its mstrument for
millions of years. Thought created *1". This creation has had
tremendous effect on the bram as it is limited to ‘1. Our whole life
is lost in being a doctor. engneer or something else. and hence. we
have pigeonholed ourselves mto the roles of our professions. So
our love 15 mited to our specific role. We have discarded the
whole and limited ourselves to the parts. The profundity of life is
lost.

Our mmd 15 our thoughts and thoughts are nothmg but what we
talk to ourselves. Our mind is constantly chattering. It 1s a kind of
mner self-talk. and it is constantly rehearsing the future. chewing
its experiences. This is because you have no one to talk fo. so you
are talkmg to yourself. If you can peep mto your mmd. you will
fmd that the mmd 15 madness m motion. Perhaps someday. an
mstrument can look mto the audio-video of our thoughts. Then it
may become clear that it is some kind of madness operatmg. But
we never look mto ourselves. for if we look. we can see the
madness of our minds.

The Katha Upamishad says. “We always look outward and never
look within: thus we destroy ourselves. Only the courageous
person looks withm.” When vou face yourmadness with courage,
then your intelligence will search for sanity beyond the maddening
mind.

When you look deeply withm, youwill realise you are not mmd,
but there s an muer space where the mmd exasts. The nund 1s like
a cloud. andyou are the sky m which the cloud is floating. Only in
that rranscendence. madness of the mind will drop.

SubQuestion Mo : 16

Q.1 complete the staterent with the most appropriste opticn as per the given passage.
[ ¥ e SRS Question D : 1679436089

If the body i5 Like the » the mind is like the 3
Ans X 1. cloud; air

X 2 cloud:; skv
W = sky: cloud
X 4 sky: air

Comprehension:




Read the followmg passage and answer the questions that follow.

Life is as vast as space. but somehow we use our bram in a lmuited
way. Our bram has been usmg thought as its mstrument for
millions of years. Thought created *1". This creation has had
tremendous effect on the bram as it is mited to *i’. Our whole life
is lost in being a doctor. engneer or something else. and hence. we
have pigeonholed ourselves mto the roles of our professions. So
our love 1s mited to our specific role. We have discarded the
whole and limited ourselves to the parts. The profundity of life is
lost.

Our mmd 15 our thoughts and thoughts are nothmg but what we
talk to ourselves. Our mind is constantly chattering. It 1s a kind of
mner self-talk. and it is constantly rehearsing the future. chewing
its experiences. This is because you have no one to talk fo. so you
are talkmg to yourself. If you can peep mto your mmd. you will
fnd that the mmd 15 madness m motion. Perhaps someday. an
mstrument can look mto the audio-video of our thoughts. Then it
may become clear that it is some kind of madness operatmg. But
we never look mto ourselves. for if we look. we can see the
madness of our minds.

The Katha Upanishad savs. “We always look outward and never
look within: thus we destroy ourselves. Only the courageous
person looks withm.” When vou face yourmadness with courage,
then your intelligence will search for sanity beyond the maddening
mind.

When you look deeply withm, youwill realise you are not mmd,
but there s an muer space where the mmd exasts. The mund 1s like
a cloud. andyou are the sky m which the cloud is floating. Only in
that rranscendence. madness of the mind will drop.

SubQuestion Mo : 17

@1 According to the passage, how have human beings Bisstion 15 1670455088
been afiected by the thought of self?

Ans. X 1. The brain is geftting smarter.

X 2 Professions are getting narrowed.

o :

People’s love is narrowed to their own selves.

X 4 People are becoming doctors and engineers.

Comprehension:




Read the followmg passage and answer the questions that follow.

Life is as vast as space. but somehow we use our bram in a lmuited
way. Our bram has been usmg thought as its mstrument for
millions of years. Thought created *1". This creation has had
tremendous effect on the bram as it is limited to ‘1. Our whole life
is lost in being a doctor. engneer or something else. and hence. we
have pigeonholed ourselves mto the roles of our professions. So
our love 15 mited to our specific role. We have discarded the
whole and limited ourselves to the parts. The profundity of life is
lost.

Our mmd 15 our thoughts and thoughts are nothmg but what we
talk to ourselves. Our mind is constantly chattering. It 1s a kind of
mner self-talk. and it is constantly rehearsing the future. chewing
its experiences. This is because you have no one to talk fo. so you
are talkmg to yourself. If you can peep mto your mmd. you will
fmd that the mmd 15 madness m motion. Perhaps someday. an
mstrument can look mto the audio-video of our thoughts. Then it
may become clear that it is some kind of madness operatmg. But
we never look mto ourselves. for if we look. we can see the
madness of our minds.

The Katha Upamishad says. “We always look outward and never
look within: thus we destroy ourselves. Only the courageous
person looks withm.” When vou face yourmadness with courage,
then your intelligence will search for sanity beyond the maddening
mind.

When you look deeply withm, youwill realise you are not mmd,
but there s an muer space where the mmd exasts. The nund 1s like
a cloud. andyou are the sky m which the cloud is floating. Only in
that rranscendence. madness of the mind will drop.

SubQuestion No: 18

0.1 Choos= thie INCORREC T option 1o complets the meaning of the seitence &5 per the given passage.

Question D ;1679436087
Our mind is sy

Ans ¢ 1. reflecting on experience
X 2 planning the future
« 5 looking inwards
& 4 talking to itself

Comprehension:




Read the followmg passage and answer the questions that follow.

Life is as vast as space. but somehow we use our bram in a lmuited
way. Our bram has been usmg thought as its mstrument for
millions of years. Thought created *1". This creation has had
tremendous effect on the bram as it is limited to ‘1. Our whole life
is lost in being a doctor. engneer or something else. and hence. we
have pigeonholed ourselves mto the roles of our professions. So
our love 15 mited to our specific role. We have discarded the
whole and limited ourselves to the parts. The profundity of life is
lost.

Our mmd 15 our thoughts and thoughts are nothmg but what we
talk to ourselves. Our mind is constantly chattering. It 1s a kind of
mner self-talk. and it is constantly rehearsing the future. chewing
its experiences. This is because you have no one to talk fo. so you
are talkmg to yourself. If you can peep mto your mmd. you will
fmd that the mmd 15 madness m motion. Perhaps someday. an
mstrument can look mto the audio-video of our thoughts. Then it
may become clear that it is some kind of madness operatmg. But
we never look mto ourselves. for if we look. we can see the
madness of our minds.

The Katha Upamishad says. “We always look outward and never
look within: thus we destroy ourselves. Only the courageous
person looks withm.” When vou face yourmadness with courage,
then your intelligence will search for sanity beyond the maddening
mind.

When you look deeply withm, youwill realise you are not mmd,
but there s an muer space where the mmd exasts. The nund 1s like
a cloud. andyou are the sky m which the cloud is floating. Only in
that rranscendence. madness of the mind will drop.

SubQuestion Mo : 19

Q1 , : : :
g Choose an option to fill in the blank in the Question ID | 1679436088
following sentence.

*We always look outward and never look within ...
Only the courageous person looks within.™

In this sentence the writer suggests that a person
should be in his or her search for the real self,

Ans  of 1 fearless
/< 2 mad
& 3 intelligent

X 4 outgoing

Comprehension:




Read the followmg passage and answer the questions that follow.

Life is as vast as space. but somehow we use our bram i a lmited
way. Our bram has been usmg thought as its mstrument for
millions of years. Thought created *1". This creation has had
tremendous effect on the bram as it is limited to ‘1. Our whole life
is lost in being a doctor. engneer or something else. and hence. we
have pigeonholed ourselves mto the roles of our professions. So
our love 1s mited to our specific role. We have discarded the
whole and limited ourselves to the parts. The profundity of life is
lost.

Our mmd 15 our thoughts and thoughts are nothmg but what we
talk to ourselves. Our mind is constantly chattering. It 1s a kind of
mner self-talk. and it is constantly rehearsing the future. chewing
its experiences. This is because you have no one to talk fo. so you
are talkmg to yourself. If you can peep mto your mmd. you will
find that the mind 15 madness in motion. Perhaps someday. an
mstrument can look mto the audio-video of our thoughts. Then it
may become clear that it is some kind of madness operatmg. But
we never look mto ourselves. for if we look. we can see the
madness of our minds.

The Katha Upanishad says. “We always look outward and never
look withmn: thus we destroy ourselves. Only the courageous
person looks withm.” When vou face yourmadness with courage,
then your ntelligence will search for sanity beyond the maddening
mind.

When you look deeply withm, youwill realise you are not mmd,
but there s an muer space where the mmd exasts. The mund 1s like
a cloud. andyou are the sky m which the cloud is floating. Only in
that rranscendence. madness of the mind will drop.

SubQuestion Mo : 20

@2 Accordingto the passage, what can bring an end Question ID | 1679436090
to man’s obsession with the self?

Ans X 5
Having an audio-video of the working of the mind.
< 2 Becoming like the beautiful blue sky.
(. 3

Understanding the mind to realise the innermost self.

< 4 Floating in the air all through the day.

Secticn : General Hind

Comprehension:
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SubQuestion No ; 1

Q.1 a-ﬂT al?‘ FIET m " qﬁa ﬂ' HAgcd %: [ Question 1D ; 1679436094

A X fagaT @
X oFH
X @ WEw &7
v ¢ 9T F

Comprehension:
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SubQuestion Mo : 2

0.2 ‘m T ﬁ'ﬁa EFﬁ' ST T 3.]'9} %‘: [ Question 1D 1 1679436092

e X0 S w3
A Smr e A
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Comprehension:
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OH &7 :ETD%Q'!T &+ 9 FJTAET Question 1D : 1679436096

A o |\ ST UTAET F HROT
X 2 TIOTSRIAT % 0T
K3 fstaar & FroT
X & dar f HTHAT F FROT

Comprehension:
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SubQuestion No: 4

o STEATY & HFUR TEH T F41 Ser 27 [ Question 1D : 1679436095

Ans ?‘:‘-ﬂ?@?
v eTEaTER
X3 FEER
X ¢ JAFATTH

Comprehension:
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s gE-T-lT g ImEr A/ '-Ig‘t-ldl g 3Taare, a8 Ru=s [ Question ID : 1679436093
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Y frfefae # ¥ FiF @ e g 2
Ans X1 Femer
vooger
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Question 1D : 1679436104
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go oreg v e €

Ans va S

X 2 AT

X o =fge

X 3 |

Question |D:1679436102
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Question 1D : 1679436097

W Grfafde & ¥ e T wE @ i

Ans X . FEET w9 T F &
X 2 Afear @t & gex &
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Question 1D ; 1679436106

ﬂ.11‘a-?$.m%:
Ans X1 FayerguT
X 2 gaATH

Question 1D ; 1679436105




X 3 Txar f&emor
v i arg Frae T

2 3w F gAiEERE s FiT T 37 [ Question 1D+ 1679436101

Ans K1-3{1§ﬁlﬂ'
X2 meae
X R
v ¢ e

013 FIT T IT A GFAF T %‘7 Question ID : 1679436107

XKL R @
K2 g off Far ordar §72

X o ofem aga A= s B
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TN g FEr F AT gEEw Question 1D : 1679436111

s X1 B & Hrer R
v o TRdr mue w5
X o Hg W gEISAr 3541
X4 #HE I 3eax &l

Q.15 gﬁ. oTe Eﬂ.w (m g]’ﬂr [ Question 10 ;1679436109

Ans XT am
Xz
X« ot
v
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Question 1D 1679436108

Ans of 1 gToT
K2 9ig
X 3§
X 4 qTF
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Question ID : 1679436103 _
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Question 1D 1679436099
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Section ; Subject Related

Q1 is NOT an elementary component in the BCG Matrix,

Question I 1679436129

Ans o1 Elephant
X 2 Star
X 2 Dog
< 4 Cash Cow

0.2 A =oaegic option that emealks sedoction of tereusmation of auy exlsting prodect of senvace e, abong with the bevel of
chjectives set bedoww the past schievements. can be remssd ax

Question 1D ; 1679436122

Ans 3 1. Turn-Around strategy
+ 2 Retrenchment strategy




X 3. Diversification strategy
X 4. Growth strategy

Q3
Ans

it 1ol for pvaluming low satisfacterily a covporate ensity has dishbarged it 2ovial responsibifitics

Question 10 1679436130

#< 1. Corporate Audit

¥ 2 Social Audit

& 2 Corporate Social Responsibility
X 4. Management Audit

0.4

Conskiering an exampie o the fextile industry, i 8 dyeing unit mkes over o spioming sed a weaviog met, uch ag
integration is called as:

Question 1D 1679436121

/< 1. Horizontal integration
X 2 Diagonal integration

X 3. Conglomerate integration
« 4 Vettical integration

Whicts of the ol coctamt matods urpally compands the scfusd it wath estinalod dats o sy of @ coechisie”

ﬂuestini,;i'i[[gl: 1&?4&36125

#< 1. Batch costing method

X 2. Activity-based costing method
/< 3 Job costing method

« 4 Standard costing method

A @

Capital Budgeting decisions are primarily taken for:

Question 1D 1679436126

X 1. Absolute short terny purposes
# 2 Shorterm purposes

X3 Medixyp:,ﬁe{;ﬁ;ﬁ]rpﬂses

« 4 Long _téi'ifii'll:-urpnses

Q.7

T

Whio among the following is consideved as the *Father of Accounting™?

Question 1D ; 1679436113

< 1. Henry Dunant
#< 2 Robert Stephenson

« 2 Luca Pacioli
#< 4 Elton Mayvo

0.8

Which one of the following i NOT a compoeaent a5 per Poster's Mode] in Strategic Managément?

Question 1D ; 1679436116

« 1. Place Leadership Strategy

X 2 Differentiation Strategy

X 3 Cost Leadership Strategy

X 4 Focused/Positioning Strategy

a9

Which among the following methods is essentially an integrated ratio analysis? [




| Ans X 1. BCG Matrix Analysis I Question 1D': 1679436120

& 2. Trial Balance Analysis
« 5 DuPont Analysis
X 4. Cash Flow Analysis

Q.10 e drawy 3 matriof SWOT analysis, in which quadst will the sty of dber muked plavers beplaced?
Question ID': 1679436115

Ans - X 1. Weakness
X 2 Opportunity
P} Strength
¥ 4 Threat

Q.17 Select e optica which courectiy armnges the foilowing evenls i ascending cedes scoonding fo Wit dccumetites.
Exeniz Question 1D ; 1679436124
1. Manigement by Obisctive

2. Scienlific Masagement
3, Hemibome Snsfoes
4 Iodusrial Useest

hen K‘l' 2141311
vz2423,1

%3,2,1,4 | -
x td * * F a

K 41,342 a 2 @
12 A Balanced Score Card is: _ 6% Question ID : 1679436119
Ans o .

A tool to balance current and capital fiability:

X

A method to evaluate financial performance of a firm.

o &

Essentially a balance sheet of financial matters.

v :

A tool for assessing strengths and weaknesses in a balanced way.

Q.13 Which of the following [s nsually NOT a chamcteristic of a successful strmegic alliance?
Question 1D : 1679436128

Ans  of 1 Confrontation
X 2 Balancing contributions

< 3. Goal compatibility
X 4. Synergy

Q.14 Which among the following is NOT a-factoriba determines capital sinucture of & company?

An : ; Question ID 1 1679436131
s o | Debtor turnover ratio

& 2 Financial leverage
X 2 Legal framework
& 4 Cash Flow abilities

Q."lﬁ The Unifed 2ations established the. Uaked Tations Coénmdodon on Intemational Trade Law' (UNCITRAL ) in the vear [




v 1966 |

Question ID; 1679436118

X 2 1945
X 31960
< 41950

0.16 ABC L buys 7720 ef mvailable shages {cometship)of X2 Corp. Which of the follwing can be sild about XYZ Cop?

Ans

Question ID 1 1679436114

# 1. It is no longer a company

< 2 It is a holding company

& 2 It is an independent company
« o It is a subsidiary company

q_'r? Tise abilicy of two.of more umiss generting sreater value by workiag fogerer thas they will be working indnibustly is

Ans

ygreally sadled anc

Question 1D 1 1679436117

#< 1. Management by Exception
#< 2 Management by Objectives
X 2. Strategy
W 4 Synergy

Q.18 Find the odd one out with regard fo Performance Evaluation Technique.

Ans

—_
ke

* Question ID 1679436112

& 1. Management by Objective

« 2. Confidential Reporting —
< 3. Behavioral Anchored Rating Scale
X 4. 360 Degree Evaluation -

Q.'I 0 The puchace price of @ otk 5 3§00 prr e, wrhile hmm!.twﬂ_l 0 255 and conmmption of erw mabeal i

Ans

a0 ueti=t . ChiSevisit et (o SR onder What will be the EGH (Etocuniic Onder Craantity?

Question 1D 1679436127

v 1 310
< 2300
X 3 250
X 4 210

Q.20 Who among the following propounded 14 basic principles of management?

Question 1D ; 1679436123

Ans o 1 Henry Fayol
# 2 David Ricardo
X 3 F. W. Taylor
4 Alfred Marshall
Section | Subject Related
0.1 Which among the following is a reason for Under Capitalisation? [ Question |0 1679436133
Ans

« 1 High efficiency
& 2. Unduly high price paid for assets




/< 3. Liberal dividend policy
X a

When fair return is not realised on capital employed

Q.2
Ans

kn the sBoxT rad, o onder 80 minav the cul-throat competines, which moeag e fellwing can b adogied as @ b
resoet o survival?

Question 1D 1679436138

' | Marginal Cost < Sales

< 2 Total Cost = Sales
/< 3 Marginal Cost > Sales

X 4 Total Cost < Sales

Q.3
Ans

0.4
Ans

Which among the following may be an effect of Under Capitalisation?

Question ID : 1679436135

% 1

Dividends may be paid even if no profits are made
o 2 Market value of shares may go up
X 3 Market value of share may drastically fall
X a

Company may manipulate acconnts to show profits in the event of loss

Which of the following errors CANNOT be detected through Trial Balance?

Question 1D 1679436147

< 1. Posting wrong amount

2 Treating an expense asanasset .
X = Posting an amount on the wrgpg:__g_i_.;tg-:i'- >
X 4 Wrong Totaling

Qa.s

Which among the following is primarily NOT a finance function?

Question 1D : 1679436136

v ' Diversification decisions
X @ Dividend decisions
X 4 Investment decisions

Which of the following Tnprecistion Acoouring policies is tsalliv sisble for niising comnpanies pader oovnal
rivunEaae e

Question 1D ; 1679436151

X 1. Annuity Method

/< 2 Insurance Policy Method

« 3 Depletion Method

#C 4 Written Down Value Method

Q7

Which one among the following is MOT a subsidiary book in Accounting?

Question 1D ; 1679436149

/< 1. Cash Book

& 2 Sales Book

v 2 Journal Book

# 4 Sales Return Book




Q.8 Doy s alstionsry pricd, method of nsneriad e woult belp o emiane that the cost of prodhiction
determinead i appronsmately the currems prevailing price bevel.

Question ID

1679436146

Ans X 1. FIFO
X 2 Specific Price Method

X 3 Base Stock Method
« ¢ LIFO

Q9 WWhat is the point of *No Profit No Loss’ termed as?

Question ID

:1679436139

Ans X 1. Contribution
v > Break Even
& 3 Margin of Safety
X 4 Angle of Incidence

Q.10 The excess of Current Asset over Cosrént Liability in typécal financial tems is called as:
Question ID

11679436137

Ane X 1. Cash Flow Analysis
' 2 Net Working Capital
X 3. Gross Working Capital _
& 4. Current Ratio 7 @

Q.11 Which of the following companies has acquired Indian e-retail giant Flipclcmﬂ?i"-' _.'
e . a N 4 Question 1D

11679436141

Ans - X 1. Procter & Gamble P
X 2 Starbucks Y ¢
v 1 Walmart '
X 4 Marks & Spencer

Q12 Whes the real 1.ﬂuuunq_ﬂ__'d_m'i'§@|hm e atRIBEOF capiinl Leivesoad, susch i simastion i called st

Ans 1 Capital rationin .

Question ID

11679436134

X 2 Capital gearing
X 3 Under capitalisation
' ¢ Over capitalisation

q_13 Whicl of i following tmansstioss may 0T bevaegodised a5 “ermor of peincipls™ as B 45 ACCUMEINE B concemed?

uestion 1D
Ans 9

# 1. Treating an income as liability

11679436148

/< 2. Treating a liability as income

3 Treating an asset as expense

v

Omitting the entire amount to record after transaction

Q.14 The procestol mapping dhe cotear demiand fie manpower and ssdiing sure of e wvailshillny'of O right kind of
mapower At she Nt s, s boidging e g of cuvent S04 Senure mangoweE remiteAnts b npcaily te fusctios of Question ID

11679436143

Ans 3 1. Human Resource Development

< 2. Human Resource Training




/< 2 Human Resource Management
« 4 Human Resource Planning

Q15 A Secret Reserve can be created through:

Question 1D ; 1679436145

Ans 5 1. Undervaluation of assets and liabilities

p B

Undervaluation of current assets and undervaluation of current liabilities
& 3. Over valuation of assets and liabilities

v &

Owver valuation of assets and undervaluation of liabilities

0.16 Asper accolnling comncept. & business is reaved as separate from its gwner™s personal affaers.

Ans o 1 Business Entity

Question 1D ;1679436150

X 2 Dual Aspect
/< ¥ Historical Cost
X 4. Perpetual Succession

Q.17 Find the odd one out with regard to application of costing principles?

‘Question 101679436144
i

Ans X 1. Margin of Safety
< 2 Break Even Analysis
< 3 Cost Volume Profit Analysis
o 2. Variance Analysis for Materials

Q.18 Which among the following is the regulatory body for insurancs business in India?

Question 1D ;1679436132

Ans X 1. AMFI
X2 SEBI
X 2 RBI
L IRDA

(.19 Suppose thal 3 coospuy only pays dilends when i cannot profitably nelmvest i1 earsings. What can rich 8 dividend
decinaon be catepocized o

Ans - X 1. Striet Dividend Decision
& 2 Liberal Dividend Decision
& 2 Active Dividend Decision
¥ 1 Residual Passive Dividend Decision

Question 1D ; 1679436140

Q.20 What g e e of beachevahip called whreby the bk maumes all the power aod by v dictane e flbowers a1 08
the decispoas ae diealined™

Question 10 1679436142

Ans  of 1 Autocratic Leadership
< 2 Paternalistic Leadership
/< 3. Free-Reign Leadership
X 4 Democratic Leadership




iy
aB

tion : Subject Related

aa
Ans

What does the 1erm “Espret De Corps’, one of Heney Favol's 14 management prineiples, mean?

Question 1D : 1679436165

1. Proper Leadership
X 2. Adequate Knowledge

X 2 Individual Performance
 + Team Spirit

0.2

Wha developad the Management Grid as a fool of Performance Evaluation?

Question |0 : 1679436159

< 1. Harold Koontz and Cyril O"Donnell
+ 2 Robert Blake and Jane Mouton

X 3 Alfred Marshall

& 4 Peter F. Drucker

0.3

Wisch of the following couting technigies is suimble for mapndicturing bisouis of similar description for a bescuir
compatry thoomghent the vear?

Question 1D ;16794361 ﬁ. ;

< 1. Standard Costing
/< 2. Contract Costing
v 2 Batch Costing
< 4. Process Costing

Q.4

W‘h.i:hln'mlglbffo]lmrimgEmrmmrmrhmhutm%hmemm'mﬁ? -3

Question 1D ;: 1679436157

X 1. Globalisation Y é 3
X 2 —
Management of various cultural issues of employees
' 7 Payrollmanagement
X a ;
Matching various emplovee expectations with a career path

Q.5
Ans

Which of Heary Fayol's 14 prineiples of management depicts the phrase “One head, Oue Plan™?

« 1. Unity of Direction

Question |0 : 1679436163

X 2. Unity of Command
X 3 Order
X 4 Equity

Q.6

The term *SEZ’ stands for:

Question 1D ;1679436160

X 1. Social Ecological Zone

X 2 Social Economic Zone
X 3 Social Environmental Zone
« 4 Special Economic Zone

Q.7

Who is considered as the “Father of Scientific Management’?

Question ID : 1679436155

/< 1. David Ricardo




v 2 F. W. Taylor

& 3 Alfred Marshall
X 4 Henry Fayol

0.8 Whichof the foliowing does NOT focm a pamsacy! pest of the general Senctiona] areas of Humio Resounte Mansgement?

Ans X

Question 1D : 1679436156

Measuring performance and developing employees’ potential

X2
Determining and staffing for employment needs

X
Anticipating and coping with organisational change

o
Taking care of quality while procuring raw materials

Q% prof. Elton Mayo can rightly be categorised as a:

Ans X 1. Legendary Leader
X 2 Religious Guru
< 3 Physical Scientist
' 4. Behavioral Scientist

Question 1D : 16?9:13_61 ﬂl %

Q.10 Which of the following is NOT a tool for analysing financial statéments? (1

Question 1D 1679436168

Ans < 1. Trend Analysis &>
« 2 Profit and Loss Account Statement
& Funds Flow Analysis
X 4 Ratio‘Analysi

111 . Ao s iy v ot Jot i s berve 2 big. lnings o i I e ot aireratis, He
ofiais the conimer fo Lsft DresmissersINg, Lid. for mansfscniring. Which costieg principle shall dhe conipony usé i
enapuFactue the st sttt for A0 Amband?

Question 1D : 1679436170 J

Ans o 1 Job Costing
X 2. Batch Costing
< 2 Standard Costing
< 4. Process Costing

Q.12 Ina Srement, each Acconnt s expressed as a parcentage of the valse of sales, [

Ans X 1. Fund Flow

Question 1D 1679436167 ]

/< 2 Liquidator’s
v * Common Size
& 4 Cash Flow

Q.13 Seppese these ace T paniers A and B4 beings T 200,000 while B Bougs in 100,000 capusd o the fir A
actively isvolved iibe boainess, nhile B is ot at all comribaning (o 41, The Profa mad Loss acoount seveals a prodit of
30,000 for the wear How will the profit be distriboted among A and B, respectivaly i the absance of & Parinership dead?

Question 1D ;1679436153 ]

Ans - X 1. ¥30.000and T 0




X 2 ¥ 10,000 and T 20,000
v 7 T 15,000 and ¥ 15,000
X 4 720,000 and T 10.000

Q14 The term ‘PG’ in a business environment stands for:

Question 1D ; 1679436164

Ans X 1. Liquefied Petroleum Gas
vz

Liberalisation. Privatisation and Globalisation
< 2. Loss Per Gram
X a

Localisation, Promotion and Geo-extrication

ﬂ.15 What o e pevicn Wi, witlont britef o real patoey, o Bphatves a3 60 bead others 20 Believe bim i be o poguse eallad?

Question 1D ; 1679436152

Ans o 1. Partner by Estoppel
& 2. Dormant Partner
& 2 Sub Partner
X 4. Sleeping Partner

Q.16 The Mmm behanior conducted dn tise 19202 by Weslemn Electric Campany bosated a1 Chosagods
populasiy L

" “Question 1D 1679436169

Ans - 5C 1. Michigan Studies
¥ 2 Hawthorne Studies
& 3 California Studies
X 4 Detroit Studies

Q.17 Puting o right man in the sight job according to his q:adjﬂcaum and ability is called as:

Question 1D : 16794367166

X 2 Controlling
v ° Staffing
< 4 Selecting

Q.18 Which of Haney Fayol's 14 principhes of munagensent depicts the pluase "4 place for sveryiling ausd
nﬂ'_\-'lth'l,;jn s p]ac,e""."

Question 1D ;1679436162

Ans  of 1 Order
< 2. Unity of Command
X 3 Equity
X 4. Unity of Direction

Q.19 Which of the following strategies allows 3 fimny 1o excel over competitors by offerlog prodocts or services
o the leant cost?

Question 1D ; 1679436161

Ans X 1. Promotional Leadership

« 2 Cost Leadership
& 3. Market Leadership




/< 4. Place Leadership

q,‘zﬂ Reaja aned %ajan wamed a buziness on 1% Tastney 2007 with capioad of ¥ 300000 and T 20,000 respectively. Acconling
¥or e Pastsmealiapy dpod, Sajin i ootitled 5o o walare of § 500 per mouth while infereat 1 be alkowed oo capitad s Z6%h

fox boeh e parines, The cemainiag profit mend be diztibaoted in e mtio of 303 After 31 Decomber 2017, the fem

Question 1D 1 1679436154

edened & groda profis of U205 000, Dering the vear, Ragen nead Sajee wisheirew ¥ 5 000 aed ¥ 100000, respectively: Cakoalate
the closing balsace of Rajin and Sxan pespectively samumisg peafits wese ceedited in Micl repeitive capilsl scconats,

Ans o 1 T 33,800,% 23,200
X 2 T32,500,% 21.500
X< 3 T 31,800, T 22,200
X 4 T 31,600, T 22,400

Section © Sublect Related

0.1 When the completion stage of & contract is more than balf, the profir to be coadited 10 Profit and Loss
account will be squal to:

Question 10 ;1679436175

Ans X 1.
100%% of Notional Profit = (Cash Received / Work Certified)

v:

2/3 = Notional Profit = (Cash Received / Work Certified)

X3
1/3 = Noticnal Profit » (Cash Received / Work Ceniﬁedi-__

X< a

172 * Notional Profit * (Cash Received / Work Certified). )

e

Q.2 The focal point of the Uniguay Round of GATT m_amﬁéﬂ-.pf_m.was:

Question 1D 1679436187

Ans o1 Intellectual Property
# 2 Cross-Border Trading of Goods
X 3 Liberalisation
X 4 Tariffs on Trade

0.3 Which of the Bollowipgiat bas replaced the Momopolistic. Restrictive & Undair Tewe Practices {MRTR) Act?

Ans X 1. Essential Commodities Act

Question 1D : 1679436183

/< 2 Consumer Protection Act
' 3 Competition Act
X 4 Food Safety and Standards Act

Q.4 1he VN Round of GATT (Unsguay Reausd) finally resulted in the conversion of GATT imto :

Ans X 1. World Bank

Question 1D ;1679436186

X 2 International Monetary Fund
« 2 World Trade Organization

7< 4 International Court of Justice

qs + dn Feference 20 smnermarionn] wade, 15 theexport by ncountoy of company of 4 product A a peice thar i3 lower
the Sodeign market than the price charngsd in the damesnc marker

Question 1D ;1679436188

Ans 1. Foreign Trade




X 2. EXIM
¥ 3 Dumping
X 4 TRIPS

Q.6 “Debirall Expenses & Loszes, Cradit all Gains or Incone™ is a rule thar is applicable for:
Ans X 1. Natural Personal Accounts

Question I07: 1679436182 ]

#< 2. Representative Personal Accounts

% Nominal Accounts
/< 4 Intangible Real Accounts

u_}' The Gremeral Agpeement on Taziffs and Trade (GATT) as sipsed by 25 major countries. including Iodia came into forte
i e e

Question 1D ; 1679436185

Ans X1 1935-1936
o 2 1047-1948
X 2 1990-1991
K 4 1955-1956

Q8 The ‘Management by Objective’ concept was developed by:

Question ID : 15;’&433‘i 76 J

Ans 1. Henry Ford
#< 2. Harry Potter
X 3. Frederick W, Tavlor
¢ Peter F. Drucker

T~

Q9 The Consumer Protection Act was enacted in the year:

Question 1D ; 16794367184 J

Ans < 1 1975
X 2 1979
X 31982
o 4 1986

Q.10 Ceeraliy, pan—____ dnacontact provides that the cootrsct prive woakd be ssitably suhadced oa e bappening of 3
g ified Cootimpracy,

Question 1D : 1679436177

Ans  of | Escalation Clause
X 2 Contract Clause
X 3 Kev-Man Clause

< 4 Ownership Clause

Q.11 Which of the following is treated as per the principles of Nominal Account?

Ans  of | Bad Debts Recovery Account

Question 1D ;1679436150 ]

X 2 Drawings Account

/< 3 Commission Received in Advance
X 4 Bills Payable Account

Q.2 In Line and Staff structure of an organisation, the authority lies with:
Ans

Question 1D 1679436179 ]




/< 1. More in Line and Less with Staff Personnel
+ 7. Line Personnel

X 3. Staff Personnel

X 4. Equally with Line and Staff Personnel

Q.13 Which of he following costing principles i based oo comparison of acnsal and estinged cost?

. Question 1D : 1679436172
Ans X 1. Contract Costing

X 2. Activity Based Costing
« 2 Standard Costing
X 4 Job Costing

0.14  As per the Consumer Protéction Act, who among the following is NOT regarded a5 o Constuiier?

An X ) ; Question 1D : 1679436197
s X 1. Anyone who hires or avails any services

« 2 Anyone who obtains goods for resale
N2

Anyone who uses / is benefitted from services without making any payment
< 4 Anyone who buys any goods or services

Q1% The aggregate of total Indirect Costs are termed ai'l " Question 1D 1679436178
Ans 1. Cost of Production Y

¥ 7 Overhead Cost k

# 2. Prime Cost -

& 4 Works Cost
Q16 Payment to a contractor is made'on the basisof . Gestion I 1679488170

Ans X 1 Percentage of Notional Profit
& 2 Notional Profit
¥ ¢ Certified Work
& 4 Contract Price

Q.17 The following are the expendinires for a contmet of T 6,060,000 commenced in Jamaary 2017 [

Materials : T 1,20,000 Question 1D ;1679436174

Wages 1 T 164,400

Plaot ; T 20,000

Business Charges : T 8.600

Wk Certified @ 5006

Cash Received (31.12.17) - T 2.40.000
= Depreciation of Plant : 1046

Catcnlate the votional profit a5 per the contract sosting peinciples.
Ans X 1. 10,000

X 2 T 25,000

X 2 T 20,000

W 4 T 15,000

- & @ & B @

_Q.1B [




Accooding g Section 44 of the Competition Law: the penalty for making falie statements or omission o fumish
neateriad denazion by noy pacy 5

GQuestion 1D 1679436189

v 2

Mininmm pepalty of ¥ 30 lakh and Maximum penalty upto T 1 crore

b G

Minimum penalty of T 25 lakh and Maximum penalty upto ¥ 1 crore

X3

Minimum penalty of ¥ 5 lakh & Maximum penalty upto T 50 lakh

X 4

Minimum penalty of ¥ 10 lakh and Maximum penalty upto T 50 lakh

Q.19

was propounded by Prof. William Ouchi.

Question 1D 1 1679436180

/< 1. Theory X
X 2 Theory Y
X 3. ERG Theory
o 4 Theory Z

Mamagement by Exceprams, a style of basioess managensent. fvpscally tnlks sboet which of the following?

X

ﬂuestini,;i'i[[gl: 1&?4&361 81

Targets should be achieved within a defined time limit.
Xz

Management should be involved in day-to-day working mlboulaﬂqmnganyﬂuph,ﬂs. .

v

Managemen should not iwvolve themselves i routine thangs asd mm&mmﬁﬂwn w:.

X a

Exceptional cases mmist not be dnchuded in management fnd be quwp&h-"i special cases.

A @

sechon | Subjeot Rals

Intemmatianal Finance (m 0 affiliate of the World Bank. was establizhed in the year:

7< 101960

Question 1D ; 1679436197

v 2 1056
X 31972
< 41985

0.2

Which of the following statements is correct?

Question 1D 1679436208

v
Merger does not form a part of Amalgamation
X

Under mo circumstances, Amajgamation leads to liquidation of an existing company
/< 3 Amalgamation includes Absorption

X a
Internal Reconstruction is an integral part of Amalgamation

Q3
| Ans

What is the full form of “UNCTAD". a body of the United Nations?

Question I07: 1679436193
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v
Merger does not form a part of Amalgamation
X

Under mo circumstances, Amajgamation leads to liquidation of an existing company
/< 3 Amalgamation includes Absorption

X a
Internal Reconstruction is an integral part of Amalgamation

Q3
| Ans

What is the full form of “UNCTAD". a body of the United Nations?

Question I07: 1679436193




v

United Nations Conference on Trade and Development

Xz
United Nations Committee on Trips and Development

X

United Nations Consortium on Transport and Dodges

> 4
United Nations Conference on Tariffs and Development

0.4

Accounting for taxes on income is dealt with in:
o 1 Accounting Standard 22

X 2 Accounting Standard 13

/X 3. Accounting Standard 20

X 4 Accounting Standard 9

Question 1D ;16794367199

——— )

Q.5

Which of the following s NOT an assumption of Economis Oodering Quantity (ECQCQHT

Question 1D : 1679436206

Ans  of 1
Anticipated usage of material in units is not known. w
Xz | -'
The quantiny-of materiat ordered is received immediately i.e. the lead time is zerns
X3 b 1
Ordering cost per order and canying cost per unit are knowitand d:e;g_mfﬁxﬂ.-a '
x4 i
Cost per unit of the material is constant and is known as well.
e
Q6 UNCTAD was established by the United Nations in the year: Question 1D 1679436195 ]
Ane ¢ 1. 1958
W 7 1964
X 2 1950
X 4 1968
q‘? Which of the following :2atements reganding Nationad Comenizaion is 0T e 03 per the Consmber Prodection Acl?
Question 1D : 1679436211 ]
Ans o
The Commission consists of § nembers. out of which mininum 2 menbers are women.
Xz
The Commission bears the appeals made against the decisions of the State Conmission.
X 3
The Conmizaion hears the appeals o complains wihere the vahe 'compensation excesds T lepoge,
> a

The Chainuan of the Commission mmst be a sitting of retired judge of the Supreme Court.

Q.8
Ans

Where the headquarters of the World Trade Organisation (WTO) is located?
X 1. Washington D.C., USA
/< 2 Paris, France
/< 3 New York, USA

Question 1D 1 1679436192




o 4 Geneva. Switzerland

Q.9

While preparieg a Cash Flow Stalement. cach receipts from royvalties. feex, commission efc. come under

Question 1D : 1679436200

#< 1. Production activities
o 2 Operating activities
X 3. Financing activities

X 4 Investing activities

Q.10

3 i area in which beiaes and tade vy ace iferent fam the et of the country aod ame focated within &
coutiry's mational bonters, Mowwrver. they: ant troabed it liker forelgs termitocy for the paspons of Srade-uid coninserce.

Question I ; 1679436204

v | SEZ

X 2 SHG

& 2 Trade Zone

& 4 Industrial Corridor

a.1n

Find the odd one out with regard to tariff and pon-tariff barriers in foreign trade?

-Questmnlu:1ﬁ?gg§§;lﬁﬁj-_ \ 2dl

& 1. Consular Formalities

X 2 Licensing

« © Voluntary Export Restraints
# 4 Import Duties

Q.12

Abnormal effectiveness or wastage valuation is done on the basi g

Question 1D ; 1679436207

W . Cost per unit of goods 7o

X2
Amount received from sale of normal wastage

7< 3 Valuation of closing stock in each process
/< 4 Cost of raw material purchased

Q.13

Who pmpounded the “Two-Factor Theory” of Motivation?

Question 10 1679436196

X 1. Abraham Maslow
/< 2 Clavton Alderfer

X 3 Henry Mintzberg
' 4 Frederick Herzberg

Q.14

According 10 Halsey Premiom Plan. time wage is guasanteed with o bouus of wages for time saved,

X 1 33.33%

Question 1D 1679436209

v 2 50.00%
X 2 66.66%
X 4 90.00%

Q.15

fmvelves the examimaiion and redesign of & set of relsted work activities tat are performed by eaplovees fo
schieve business goals aod flows in an cganisation

Question 1D ; 1679436202

/< 1. Strategic Management




/< 2 Total Quality Management
« © Business Process Reengineering
X 4 Knowledge Management

an

Q.16 Toos oot o msachuinng the keradocie, alls sl abylitic2 (RS540 that are oeniral ba perfinn 8 job, a3 deverationd by job
mnshvigs, with the procpectng sosploves's Knowledge. skilly and sbilibes i called iechnically in B 3]

Question 1D ; 1679436203

Ans  of 1 Person-Job Fit
X 2 KSA Fit
X 3 Competency Mapping
#< 4 Potential Appraisal

Q.17 wWhich list does India belong in the UNCTAD Membership?

Question 1D 1 1679436194

As X 1 ListC
A2 ListD
v ListA
X 4 ListB

Q18 Grapevine must be categorised under:

Ans 1. Style of Leadership
¥ 2 Communication
X 3. Organisational Structure
# 4 Human Resource Development

_;qlues{g;l' Iﬁ;fﬁm 6201

Q.19 it Wik o of ngtioters S st aepulicly o distsd B problens, investfale cains, petoust
oliiions and ke carresiive achions. Tha i praacally & Mwﬂwm T e Aagie Wenk aoed,

Question 10 ; 1679436205

Ane X1 Line Organisation
v © QualityCircle.
< 3 Committee Organisation
/< 4. Staff Organisation

Q.20 Which one of the fallowing neay help in building an ‘Tnnovation Enabled Organisation”?

Ans O

Question 1D 1679436210

Strong formal orientation with adequate bureaucracy

/< 2 Strictly adhering to targets at any cost
X3

Following the principles of Management by Objectives (MBO)

' + Following effective cross-functional teams

Secton  Subject Related

I‘.].1 Which of the follewing is scontzact in which a honding company kgiees 10 coimiuese & fiom o to & 2aled amcust for
firanial hvises cotbed exchmavely by delonest s of Managen of other emploves;?

Question |0 ; 1679436223

Ans 1. Zero Coupon Bond




< 2 Indemnity Bond
. Fidelity Bond
< 4. Corporate Bond

0.2
Ans

Ia the inferest eansed on a givess deposit or-principal that kas become a part of the priscipal o the end of a
ipeeatied petiod

Question 1D ; 1679436224

< 1. Simple Interest

X 2 Time Value of Money
X 3. Capital

« 4 Compound Interest

0.3

Which among the fotlowing aims s promoting corporste faimsess. tmasparency and accountabiling?

« 1. Corporate Governance

Question Iy 1679436212

< 2 Corporate Netting
& 3 Lifting of Corporate Veil
X 4 Corporate Social Responsibility

United Mations Conference oa Trade ad Development (UNCTADY is the prineipal organ af:

/< 1. UN International Court of Justice

g &ggsﬁu 1D : 1679436231

« 2 UN General Assembly

& 3. UN Social Council
X 4 UN Security Council

Q.5

Cash Received

The formmla Exﬂa&unall’ruﬂl X g

s used i contract costing when:

Question Iy 1679436228

p .

the completion of eontract is more than 75% but less than 90%

( 24

the completion of cohtract is more than 25% but less than 50%
X3

the completion of contract is more than 50% but less than 75%
#< 4 the completion of contract is less than 25%

Q.6

Ans

BOGEY standard in Cost Accounting is also known as:

Question 1D ; 1679436229

& 1. Basic Waste Control standard
& 2 Attainable standard

¥ ¢ Ideal standard

& 4 Abnormal loss standard

a7

Question 1D ; 1679436222




Consider the following journal entry:

Rovalties A/C Dr.
Shortworking A'C Dr.
To Landlord’s A/C

Find the correct situation of the usage of the above entry.

Ans X,
When royalty payable is more than the minimum rent

X2

When there is a normal payvment of lease rovalty
7< 2 When there is a profit in lease

v &
When rovalty payable is less than the minimum rent

Q.8 5 & aqualiry witdeh should NOT ebdeally be followed By a critical thinker while kn the process
of critical thinking,

Question ID 11679436213

Ans ¢ 1. Open mindedness
X 2. Reservation in arriving at a conclusion

& 3 Contextual
¥ ¢ Non-Experimental and judgmental

=

Q.9 The anmuity with an indefinite life which makes mummsmﬁmmﬁm{—

Question 10 1679436226

Ans 1. Regular Annuity
o 2 Perpetuity
X & Depreciating Anmuity
x4 anﬂﬁlimﬁmi@’

Q.10 isdaﬁm:r a5 comsistency or agreement of individual goals with company goals.

Question I 1679436230

Ans X 1. Goal Fixation
v 2 Goal Congruence
X 3 Goal Ambiguity
X 4. Goal Restructuring

0.11 s concenad with the design and delivery of financial products and sdvics to individuals,
buzinesses and govemments.

Question ID ;1679436218

Ans 1. Financial Management
X 2 Financial Leverage
& 3 Finance

« 4 Financial Services

Q.12 I=mumpemen, when macagers place their pereonal goals ahead of cosposde gaals, such a problem i called as:

Question 1D ; 1679436227

Ans  of 1 Agency Problem




& 2. Mission Problem
X 2 Goal Congruence

& 4 Corporate Restructuring

Q.13 nwhich of the following accounting processes is Deficiency Account exclusively opened?

Question 1D : 1679436216

Ans 3 1. Branch and Departmental Accounting
« 2 Insolvency Accounting
& 3 Accounting of Banking Companies
X 4. Royalty Accounting

Q14 Decrease in the working capital is connected with:

Question 1D ;1679436217

Ans 3¢ 1. Non-trading expenses

o 2 Application of fund

# 2 Sources of fund
< 4 Non-trading income

0.15 The process of desermuning the peesent value of 4 funare amount i typesally called in feoce Language a: l

‘Question ID : 1679436225

Ans 1. Cannibalising
X 2 Valuation
v = Discounting

& 4 Compounding

0,16 1 an appeoich 10 Exlikes lut forunes on the rightnesd o v ol metind themcves, ad cppoied o the
Hiphine o8 wiougnet of M conbginsss of Thoao scTjofs

Question 10 1679436215

Ane 1. Pragmati¢Ethics
« & Deontological Ethics
< 4. Virtue Ethics

Q.17 While treating fands, recognizes revenue nt the point of mibe aod expenres when they ane mourmed.

Ans - X 1. Realisation Method

Question 1D 1679436219

X 2 Revenue Generation Method
v ° Accrual Method
& 4. Recognition Method

Q.18 |5 equal S after tax ppernting profits of & firm [&2s the oot of funds wsed fo finance imvestnoents,

Ans 2C 1. Fixed Cost

Question 10 1679436220

X 2 Gross Sales
< 3 Marginal Cost

v ¢ Economic Value Added

Q.19 ~The moeal pricciphe tha govens 3 person’s behaviour of Bom: o Serivity is condocned” et describes e o |'

Question 101679436214




[Ans X1 Commerce % ‘1

X 2 Trade
& 3 Business
v ¢ Ethics

.20 ‘Akmemmamtmmmhmwmw Which of the folicwing termi in the
PRt il ot copads Il Tioey Question 101 1679436227 ]

Ans  of 1 Time Value of Money
/< 2. Valuation Concept
/< 3. Investment Concept

X 4 Compounding of Money

Section | Subject Related

Q"I India Tod i3 5 Belly grvemument onmed company whareas Sharsa Lid, b 8 comgpam' thas i folly msaaged by o privas = = -
77 masagement. Sutsequendy Indin Lol took over Sham Lid. in & hortile ticeover by buyisg 734 wores of Shanma Lid i i B
Seiect e option which best describes the sans of Sharma Ll after the taleover. Questmnlﬂjﬁ}'m : ]

Ans 3 1. Chartered Company
v 2 Government Subsidiary Company

A @
< 3. Holding Company 2
X 4 Private Limited Company a \ V.
. r- =1
0.2 amd-mﬂﬁmwmummmmummm1ﬁwmw :
wwmmdmhfmddmﬂnd%mdoﬂhmﬂmdhumhmﬂh&nnﬁﬂn{ _;"- quSth}l’l ID;.IE?M&M

Ans 5 1, Money Market
X 2 Indigenous Lending-
X 2 Financial Intermediary
¥ . Stock Exchange

_—
0.3  Which o= of the followin: .ﬂ,ﬂ}::;l!l}' WOT & characteristie of a Traditional Accounnieg System?

Ans X1 Tt is historical in nature
X 2
It matches current revenues with historical costs
v 2 It considers inflation
x4

Profit and Loss account does not consider increase in et asset value

Question 1D 1679436238

Q.4 Reliance Industries Ltd, which is listed ou the BSE and NSE, | le of a;
jance Industries Ltd, which is listed ou the i5 an example of a: Question D : 167 232

Ans 3 1. Government Company
« 2 Public Ltd. Company
X 2 Private Company
/< 4. Public Sector Undertaking

Q5 Which of the following is NOT a feature of Bookkeeping? | Question ID - 1679436236 I




[Ans &< 1
A person responsible for bookkeeping is called a Bookkeeper

b
It is the recording phase of an accounting system
Bookkeeping does not require any special skills
X< a
It compiles clerical activities not analytical in nature
u_ﬁ ddesonibes the oelatioged the pequiped retura of wos of Tquity Capital sl the eoti-dvendiable risks
nfaﬁmmn‘rrdbrﬂﬂit‘m

Ans X 1. Stock Market Operations
X 2. Systematic Risk Analysis
« : Capital Assets Pricing Model
X 4 Cost-Volume-Profit Analysis

Question ID : 1679436246

Ml - = . I

Q.7 As per Profitability Index, a project will qualify for acceptance, if:

Questicgj}ﬁ":-‘iw ;
Ans X1 PI< | 7
X2 PI<O hp @
X3 PI>0 |
Wi PI>| & \
0.8 |swww“1marhuaunmwmnmmmwmnumwmmhm.{t%
i 4 2O caminyf dnsapure, thal Teaditionally wiece: beig performund io-hosike by the oM o eofveeh M Sl Question 1D : 1679436235

Ans 3¢ 1. Outperforming
/< 2 External Searching
v & Duts__:__;;!jfﬁiig-

0.9 T e af bostowed Buad in sntic|pating of higher renim 1o the shardbolders. - This is a concept enlked nx

Ans X 1. Stakeholder Optimising
#< 2 Reverse Trading
« @ Trading on Equity
< 4. Debenture Trading

Question 10 1679436247 _]

Q.10 Which one of the following is NOT a wansaction as per Accounting Principles?

Ans 5 1.

Mr. X started a business with capital (brought in cash) of T 40,000
/< 2. Mr. X paid salaries worth ¥ 5,000 to staff
X a

M. X purchased machinery worth ¥ 20.000 in cash
v

M. X placed an order with D*Souza & Co. for goods worth ¥ 10,000

Question 1D 1679436239




| Q.11 The NIFTY comprises stocks of Indiag companes beloaging 10 secions i Tndia

ms X1 g

Question 1D : 1679436241

xXz15
V12
X4 s

Q.12 The Over-the-Counter Exchange of India (OTCE!) has its headquarters in the city:
' " Question ID : 1679436242

Ane o | Mumbai
X 2 Hyderabad
& 2 Delhi
& 4 Kolkata

13 Whi ing i i i
Q.93 Which of the following is NOT a primary purpose for holding cash? Question ID 1679436245

Ans X 1. Transaction Motive
< 2 Precautionary Motive

« @ Storage Motive
X 4 Speculative Motive

Q.14 Which of the follewing is primarily NOT respoutsible for change in the Working Capital? au
aplinlg, * -Question ID : 1679436243

Ans 3 1. Change in the level of sale B

v <5 %
Change in the members of the Board of Directors

X 2. Change in the operating expenses -
X 4 Changes in the technology

Q.15 Which of th foliofiine el trkes intb Consideratioi the tiie valae of -
: it of e LPG e Rl Question ID : 1679436248

Ans X 1. Accounting Rate of Return Method
X 2 Pay Back Method
X 2. Accounting Rate of Return
« 4 Discounted Cash Flow Techniques

u_‘lﬁ The ability of a fion o we foed finsacial charges %o magnily the effects of changpes in ERIT oo the vamings per share
e i Question ID : 1679436250

Ans 2 1. Combined Leverage
X 2. Operating Leverage
/< 3. Long Term Leverage
« ¢ Financial Leverage

Question 1D : 1679436233

Q.17 Which of the following is NOT comect wich repasd 1o A company regutered bn India & per Companies Act, 20137 l

Ans 1.

Every company must have Perpetual Succession
< 2. Every company can sue and can be sued




o

Every company must possess Articles of Association
< 4 Every company should have a common seal

Q18 Find the odd one out with regard to branches of Accounting.

Question 1D 1679436237

Ans X 1. Corporate Accounting
X 2 Management Accounting
3. Financial Accounting
o 4 Cost Accounting

qt'lg The spmment thal current dividends are bess risky ns coompaned to fanse | dessant dividends and i the sbareholders
prefier dvadends over remised canings is knowe 2

Question 1D 1679436251

Ans 1. Interim Dividend Argument
+ 2 Bird in Hand Argument
& 2 Apple in the Basket Argument
X 4. Fish in the Net Argument

Q.20 The differens Rankings of the sanie projects 45 given e the NPV and TRE methods imey e place. Goe of the
lodlowing is WOT associaled with it Find oot the same.

Ans X 1. Unequal Expected Lives
« © Management Disparity
X 3 Size-Disparity Problem
& 4 Time-Disparity Problem

Question D : 1679436249

Q.‘l Sefinage :&Lﬁnfoﬂkﬂn;ﬂ‘wm =3 & team frov differcar georaplucn] focatiom o0 A read-time
s o arrhaiiiee salled ax

Question 10y ; 1679436257

Ans X 1. Cross platform mobile app
X 2z VOIP
v @ Groupware
& 4 Peer-to-Peer software

Q2 Calls in arrear is shown in statement of affairs under:

Question 1D : 1679436266

Ans X1 List B
X2 ListC
v i ListA
X 4 ListD

n_s T chelee of invesimen! fopamls under Giancial comaraios & tenm of a fiven iee-of capits] expeodissr budpet i

Kaprit 0
Ans

Question 1D : 1679436260

& 1. Capital Sponsoring
X 2. Capital Gearing




« = Capital Rationing
#< 4. Capital Diluting

Q.4 Theappearance of a contingent Liability in the feotnote of a company’s balance sheet is a
resultof accounting principle.

Question 10 : 1679436268

Ans X 1. Conservatism
¥ 2 Disclosure
/< 3. Consistency
< 4 Materiality

0.5 Which of the following is NOT an element for setting up of objectives?

Question 1D 1 1679436255

Ans O 1. Starting point or the present position
X 2. Terminal point or the expected result
« ¢ Initiation of Proper Control Mechanism

X a

Specified time duration by which the objectives are to be achieved

Q.6 The value of assets are usvally shown in the balance sheet on the basis of: l

~ Questian 10 1679436269

Ans o1 Unexpired Cost Value
X 2 Replacement Cost Value

< 3. Market Value
X 4 Revaluated Cost Value

0.7 Foupromating a by talon which of the Sollowing .m.p:kﬂ[ng imdels wm.ﬂﬂ give the best results?

Question 1D ;1679436262

Ans ¢ 1. Cloud Marketing
X 2 Seasonal Marketing
v ?emmjgi_ﬁgiﬁhg
X 4 Mass.'ﬂéﬂmg

0.8  Which of the faliewing will be the josmal emery when noty chargss s paid by 2 thisd paty (o cosaection

Question 1D 11679436271

weith Bill of Exchange?
o Third Party A/C Dr.
X ey
: To Acceptor’s A/C
Bank A/C Dr.
X2
' To Acceptor’s A/'C
v Acceptor’s A'C Dr.
To Bank A/C
4 Drawer’s A/C Dr.
To Bank A/C

Q9 The subject matter of Accounting Standard 20 is:

Question 1D ; 1679436267

Ans X 1. Accounting for Amalgamation




« 2 Earnings per Share

X3
Consolidated Balance Sheet of Holding Company

< 4. Employee Stock Option Plan

Q.10 Which of the following is NOT a part of the 4Ps of Marketing?

Question 1D 1679436264

Ans X 1. Place
X 2 Price
' 3 Projection
& 4 Product

Q.11 Which of the following options best explains a Bank Reconciliation Statement? l

Question 1D 1679436270

Ans 1 Ttisa part of Cash Book
« 2 It is a separate statement
< 3 It is a sub-division of a journal entry

/< 4 Itisa ledger account

are the

&

Q.12 Thaseacay i covared her-upmullw Mwu;:mhjﬂrnﬁ. powers mmﬂuﬂnﬁwpﬂﬂmmmuﬂl
and its nith P featie

Question 1D : 1679436256

Ploe K 1. Goverment Companies
X 2 Departmental Undertakings
X 3 Multi-National Companies
« 1. Public Corporations

lan raprurru-'lrhﬂmnfmdj mnmwmkmmmmm nadl piher wTiER
sotinced b nolyee dexd :n.l'l"ﬁ#

Q.13

Question 1D 1 1679436263

sl OhﬁenﬂiﬁRMﬂimd
« . Desk Research
& 2 Field Investigation
< 4 Experimental Method

Q.14 Which of the following is the primany difference between the old and new concept of marketing?

Ans X 1. Product Focus

Question 1D 1 1679436261

< 2 Production
v ° Consumer Satisfaction
X 4 Distribution and Sales

Q.15 Which of the following is NOT a part of the scope of Marketing?

Question 1D 1679436265

Ans X 1. Distribution channel
< 2 After sales service issues
< 3. Pricing methods and policies
« 4 Recruiting people for marketing




Q.16 Which of the following theories has NO direct bearing on Capital Stracture?

Ans 1. Net Income Approach

Question 1D : 1679436254

& 2. Net Operating Income Approach
« : Arbitrary Pricing Approach
X 4 Modigliani-Miller Approach

Q.17 ‘Whichs 6f the followiig is priniarily NOT 3 key activity pecformed by  Fibance Macager?
Ans o 1 Making Retrenchment Strategies

& 2. Making Investment Decisions

< 2. Performing Financial Planning

X 4 Doing Financial Analysis

Question 10y ; 1679436252

IR is NOT a credit rating agency. Question 1D : 1679436253
As X 1. CARE '
v 2 CRAII
X 3 ICRA
& 4 FITCH . L.
: _

Q.19 Which of the following authors belongs to the Moder Era of Marketing? [~

Ans X 1. Tousley and Clark al
¥ 7 E.J. McCarthy 6 2
X 2 Edward and David

. Question ID: 1679436250

X 4 Pyle
——

ans < 1. MS Access

& 2 Audaciry

X 3 Corel Draw

o + Tally
Section : Subject Related
Q.1 Acquifing a nschinery for loag-tenn tse by selling o par of building will ressifin _____ ina fund fhow samiment

Question 1D ; 1679436290

Ans X 1

proportionate increase in the application of funds

# 2 increase in the source of funds
¥ no flow of funds
/& 4 increase in the application of funds

Q.2 = the peovess of creating, sharing, using and ging the exizting | i e e of an
ofgreation wiile facilitating a multdseiplinary spproac of achbeving organisationad ehjedtives by mmking the bea i .
ot = | Question |0 : 1679436280 |




|Ans 1. Personnel Management
X 2. Strategic Management
« 1 Knowledge Management

< 4 Logistics Management

Q3 150, as a process of business standardisation, stands for:

Question 1D ; 1679436281

Ans < 1. Integrated Organization for Standardization

/< 2 Indian Organization for Standardization
e
International Organization for Standardization

p .
Inter-Globe Organization for Standardization

0.4 compiiiet o gege of aoconating models detigned 2o Soerect problem aritng from hinonical s sevoonting in
s B i in the prates nirinquenty

Question ID 11679436284

Ans 3¢ 1. Branch and Departmental Accounting
X 2 Inventory Accounting
« © Inflation Accounting
< 4 Human Resource Accounting

A @

0.5 Who among the following is closaly associated with Marketing M fin Ageme

Question |0 : 1679436288

Ans X1 Alfred Marshall
& 2 Alfred Nobel
V' = Philip Kotler
# 4 Mohammad Younis

_ﬁ ﬂtpmcﬁ'.ql_‘{rxh.n:gml Iq_w_ : 'ﬂlﬁ|dmnﬂ‘pmu‘b&fuﬂa.lﬂ having poteatial 1o pedform a joband
Q enceniraging s 1 apply Sn’fhﬂm'l: called

Question 1D ; 1679436278

Ans X 1. Motivation
X 2 Placement
+ ¢ Recruitment
X 4 Selection

Q.7 Which of the following reponis is NOT a part of Management Information System?
Ans X 1. Cash Flow Statements

Question Iy 1679436289

« 2 Books of Original Entry
X 3 Master Budget Statements
& 4 Funds Flow Statement

0.8

Question 1D 1 1679436285




Following information has been given:

Annual Usage — 8000 units
Cost Per Unit — < 30
Buying Cost — I 15 per order

Calculate the Economic Order Quantity.

< 1420
X 2 450
< 3 380
o 4 400

Q9
Ans

Thee distinction berween capital and revenre transactions are necessary for preparation oft

Question 1D ;1679436272

# 1. Cash Flow Statement

& 2 Fund Flow Statement

¥ 1 Final Account

/& 4 Receipt and Payment Account

Q10 Which of the following is NOT an element of a Cash Flow Statement?

Ans

,ﬂuesti-nnﬁﬁfiﬂﬁ&r‘ﬂﬁm

-

/< 1. Operating Activity
' 2 Procuring Activity
X 2 Financing Activity
/< 4 Investing Activity

an
Ans

Whiich of i follonving Beanm should NOT be eatered in Receijts snd Payments Account of a ¢lob foruwaiaed
for social gazhesings?

Question 1D ; 1679436273

¥ | Loss onsale of old furniture

F
Various payients made towards expenses incurred

X 2 Sale of old newspapers

X 4 Subscription received in advance

(.12 Whichofthe following k= NOT a comtemporary inpact of busicess service thrvegh technological advancement?

Ans

Question 1D : 1679436274

#< 1. Mobile apps for banking and other services
« 7 Advertisements in print media

< 3 Emergence of paperless transactions

/< 4 e-Retailing and doorstep delivery

Q.13 Find the odd one out with regard to Export-Import business.

Ans

Question 1D 1 1679436276

/< 1. Letter of Credit
X 2. SEZs

« . Micro Finance
# 4 EXIM Bank




(014
Ans

Which of the following 5 the highest level need a3 per Professor Abmbam Maslow's hismchy of needs?

< 1. Social Need

Question 1D ;

1679436279

X 2 Physiological Need
X 3. Safety Need
W ¢ Self-Actualisation Need

Q.15

Impatient, achievement-oriented people are classified as:

Question 1D ;

1679436277

X 1. Introvert Personality
X 2. Extrovert Personality
o i Type A Personality
X 4 Type B Personality

Q.16
Ans

Which among the following is NOT a Database Management Software?

Question ID;

1679436286

< 1. Oracle
v 2 Audacity Pro
X 3. IBM DB2

54 AL A /R @

P E——

Q.17

As-a byproduct of Quality Circle, means improvement over an inprovement, simply saying [.1
CONEEIONS improvement.: LC

" Question ID:

1679436282

v | Kaizen

X 2 Funso

# 3. Hinshitshu

X 4 Total Quality Management.

Q.18

mm—m— —

Which of the fallowing CANNOT be regarded as a business service?

Question 10

1679436275

X 1- Transportation and logistics
X 2 Insurance services
« 2 Donation given

X 4 Personal banking

Q.19

The basic difference between Traditional Accounting and Human Resource Accounting is:

e

Question 1D ;

1679436287

Identifying and reporting investments made in employees
& 2. Method of valuation of stock in trade
/< 2 Basic principles of accounting

< 4 Method of revenue recognition

Q.20

Which of the folloning i the primary fferentzting Etor betvrem ADR and GDR. 4% 2 paat of depdsiiony toceip?

Question 1D ;

1679436283

< 1. Validity of the Instruments
#< 2 Type of Financial Product




o = Area of Operation
& 4. Negotiability

Sectlon | Subject Related

Q1 Special educators help teachers in: Question ID : 1679436311
Ans X 1. Talking to students
¥ 2 Remediation
X 3. Instructing
& 4 Reporting
(.2 1o nsschine lanwunge, the presence of wa electric pulic follwed by the sbuncs of oother elocart pulee w regresessid e P——
Question ID: 16
A X+ (01)
Xz (1)
Vi (10) |
e -
x4 (0) D
Q.3 Lmu-nmnmmd.hwmmm«mmm-mummwdummnmmﬂmm&z

palied s chadr mnd climbed on iz oo reach the doll. Whes dvelopien had tien place?
Complete the sentmce chosidng the softest sptin

© Question |0 : 1679436292

< 1. Physical development _ w
X 2 Emotional development I' {
« © Cognitive and physical development

X 4 Language development

Edpzation of girls is soos e Edusation for teial dolsrsion rather thas Social peogress™ In whath of the follewiag
dacumentsT

Question 1D ; 1679436298

X 1/ NPE 1986
/< 2 NPERC 1990
v 5 NCFSE 2000
X 4 NCF 1975

Q.5

Tluc.'l.u.!;Wwpmumuhu]wmlhmmﬂhmmmmmw“hn!h
Avhish who mes emichey 10 waik?

Question 1D : 1679436310

/< 1. Give him a holiday

p B
Ask him to stay back in class and complete an assignment

« . Buddy system for mutual support
X 4 A movie show

0.6

Ramesh secured 1 5thrank. Which type of test was this evaluation based on?

Question 10 1679436308

« | Norm referenced
& 2 Standardized




/< 2. Criterion referencing

& 4. Diagnostic

a7

Ans

Concept formation is a result of:

Question I0: 1679436295

X 1. Teaching
& 2 Drilling
« © Perceptions
< 4 Memorising

08

Inclusive Education policy s an initiative to support the larger objective of
Choose the right option

Question 1D ;1679436293

Ans X 1. Girl child education

/< 2. Special needs education

& 2 Minority education

' 4 Education for all _f %
@9 The objective of poems in languages is to learn: ) IR
Ans X1 Action g W

o 2 Aesthetics and varied expression

X 3 Singing

X 4 Rhythm
Q.10 A social science lesson takes responsibility ﬂfm;ﬁﬁwmiﬂswm?

Ans

«' | Appreciation of land, culture and heritage

Question 1D : 1679436299

/< 2. Knowledge about location of resources
# 3 Understanding population trends

= -—

& 4 Awareness about technology

an
Ans

Which of the followemg is 1 epistemological basis for scoentilic knowledge, according to pragmatists?

#< 1. Problem solving

Question 1D 1679436306

« 7 Experiments
#< 3. Opinions
/< 4 Interpretations

Q12
Ans

Technology aided learning can substitute a teacher effectively when we use:

Question 1D 1679436300

¥ | Interactive e-lessons

7< 2 Programmed learing

/< = PowerPoint presentations
& 4 Audio-visual aids

1 10.13




What does the acronym HTML stand for? | Question 1D 1679436304

& 1. Hyper Text Multiple Language

< 2 Hyper Transfer Marking Language
/< 3. Hypertext Marking Logic

4 Hypertext Markup Language

14 i ;
Q.14 Which element do debate and extempore speech help to develop? Question ID 1679436296

Ans 1. Reading fluency
X 2 Writing skill
& 3 Emotional intelligence
« ¢ Being articulate in speech

Q15 Constructivist development model by Vygotsky signifies: Biestion I T8 7oaNa0

Ane X 1. Leamning by doing
< 2 Reading
< 3 Working individually &
« ¢ Discussing with peers : '
Q16 Which of the following is a key mathematical skill? [ | 2 St B TR

Ans 1. Illustrating
X 2 Observing
X 2 Drawing
W Conmmmg.

Q17 science teachers can enhance their proficiency through reading by: —_—— ;

Ans X | Discussion with colleagues

Xz
Updating with latest scientific developments

o 2

Substantiating lessons with latest scientific developments
X 4 Giving home assignments

Q18 Taking feedback from children after the lessons is: Question 1D : 1679436300

Ans  of 1| A Classroom Assessment Technique

X 2 Lesson planning
X 3 Reporting
X 4 Assessment

Q.19 i




Which quality of a test reflects its desired outcome? | QiisHon 10 18T MR

Ans X 1. Reliability
W 2 Validity
X 3. Functionality ! =
X 4 Feasibility .

Q20 story telling comes from the art of; ; ‘ ' Question ID : 1679436302

Ans 1. Explaining
' 2 Narrating
XA Memory
X 4 Acting
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